KALABRONE MINI

TALIANNA

ferramenta

/¥ FERRAMENTA
CILIVENZA D!

110 150

(mm)

5

European registered design n° 001642950

Codice 1622060000 rev. 2
Code 1622060000 rev. 2
09/10/2020



Italiano

Si declina ogni responsabilita per eventuali
disfunzioni determinate dall'inadeguatezza della
parete di appoggio e/o del sistema

difissaggio.

English

It is the responsability of the customer:

-to ensure that the wall is of a suitable quality to
hold the shelf fixing in place.

-to use the right hardware fittings as required.

Deutsch

Fir die Sicherheit des Beschlages ist ein
tragféhiger Untergrund und eine ausreichende
Verbindung Beschlag/Untergrund notwending.
Hierfir tibernehmen wir keine Haftung.

C dellac
Reggimensola in zama + vite di fissaggio forcella
inferiore e tappo.

Portata del reggimensola

Grafico per la determinazione della portata in
rapporto alla profondita’ della mensola.

Valori riferiti ad un solo reggimensola applicato
alla parete di appoggio con adeguati sistemi di
fissaggio.

Installazione della forcella superiore
Fissare la forcella utilizzando una vite TSP @4 ed
un tassello adeguato alla parete di fissaggio.

Allineamento delle forcelle superiori
Possibile regolazione in verticale delle forcelle
per un perfetto allineamento delle stesse.

Montaggio della forcella inferiore
Avvitare la vite M4x12 per bloccare il ripiano.

Inserimento tappo
Inserire a scatto il tappo per nascondere la vite di
fissaggio.

Polski

Obowigzkiem klienta jest:
- Zapewnienie dobrej jakosci $cianki
odpowiedniej do utrzymania mocowania potki.

Packaging and content

One zinc alloy shelf support + screw M4x12 to
block the lower shelf support, cover cap and
instructions sheet.

Capacity loading of the shelf

Verify the chart to determine the shelf capacity
loading according to the shelf depth. The chart
refers to a shelf support fixed to the wall with
proper hardware fittings.

Upper shelf support blocking
Block the position of the upper shelf support

using a flat head screw @4 and a suitable wall plug.

Bracket alignment
Align brackets vertically to obtain their perfect
alignment.

Assembling of lower shelf support
Tight the M4x12 screw to lock the shelf.

Cover cap installation
Insert the cover cap by making a little pressure
onit.

Pycckun

MpownsBoamnTenb He HeceT OTBETCTBEHHOCTU 3a
KayecTBO CTeH, Ha KOTOpble OCyLecTBAAeTCcA
YCTaHOBKa NOJKK, “n MCI'lOHb3yeMbII7I Kpenex,

Inhalt der Verpackung
Ein Tablartréager, plus Verriegelungsschraube
M4x12, KS-Abdeckkappe und Montageanleitung.

Tragkraft des Beschlages

Aus der Grafik ist zu entnehmen, dass die
Tragkraft des Beschlages von der Tiefe des
Bodens abhdngig ist. Es handelt sich um
Richtwerte pro Einzelbeschlag in Verwendung
mit geeigneten Schrauben und Diibeln.

Montage des Oberteils

Fixierung des Oberteils mit Schraube Senkkopf @4
und Dibel welche fiir eine Befestigung an die
Wand geeignet sind.

Ausrichtung der Oberteile
Oberteile waagrecht einstellen.
Montage des Unterteils

Schraube M4x12 anziehen, bis Tablar
festgeklemmt ist.

Abdeckkappe
KS-Abdeckkappe aufklipsen um die
Verriegelungsschraube abzudecken.

3L

BT .
TR B AL E B,
AR RS LR D SR

- Stosowanie okuc¢ zgodnie z zaleceniami producenta. g;lmi:‘;:menz pexomenaayun - cavoro

Opakowanie i zawartos$é Komnnekrauus FIEERRLE

1 podpoérka ze stopu cynku + sruba M4x12 do 1 MeHconogepxatens + BUHT M4x12 ana —PNESESERIE, — 1M EEERITHN
zablokowania dolnej czesci potki, plastikowa duKcaumm HUXKHER YacTn MeHconofepXKaTens. M4X1288%2,

zaslepka oraz instrukcja montazu. — X2, BEBH

Nosnosé potki Harpyska Ha nonky PRtRIEEERE

Tabela okreslajaca tadownos¢ potki w zaleznosci
od gtebokosci potki. Dane w tabeli odnosza sie
do jednej podpdrki odpowiednio zamocowanej
do $ciany.

Blokowanie gérnej czesci potki

Zablokowac gérng czes¢ potki za pomocg Sruby z
tbem pfaskim @4 i odpowiedniego kotka
sciennego.

Wyréwnanie wspornikéw

Ustawi¢ wsporniki pionowo, aby uzyskac ich
idealne wyréwnanie.

Montaz dolnej czesci podporki
Dokrecic srube M4x12, aby zablokowac potke.

Montaz plastikowej zaslepki
Przytdz plastikowa zaslepke, lekko ja dociskajac.

paduk Ana  onpepeneHnsa  MakCUManbHOWM
HarpysKu Ha nosKy B 3aBUCKMOCTU OT ryGUHbI
NONKM.

MakcrmanbHaa Harpyska Ha NosiKy AocTuraeTca
Npy UCNONb30BaHN MPaBWIbHO NOA06PAHHOTO
Kpenexa Ans COOTBETCTBYIOLeil CTeHbI.

®DuKcauma HaCTEHHOro KPOHWTeNHa
3aduKCHpyiiTe HaCTEHHBI KPOHLUTEIH K CTEHE C
MOMOLLbIO Camope3a C NOTalHOWN ronoBkoin @4
MM 11 COOTBETCTBYHOLLEro Aiobens.

Y1o6bl [O6UTBCA U Oro  BbIP:
MeHcosofiepxaTeneln, nepemeLlanTe HacTeHHble
KPOHLUTENHbI N0 BePTKanu (+ 3 mm).

C60pKa MeHC nyc nonkn
3atAaHute  BUHT  M4x12, uto6bl  COGpaTb
MeHconogepatesb 1 3apUKCNPOBaTh NOSKY.

YcraHoBKa 3arnywKkn

RERRARE IR T AR DER,
FEYETERGENhEERHSRREEE

k.

FEtRiE ERBEE
FAFLDAmm P LIRS BEAE R EE
TERRIRIE EARIE.

FRHRFESZZRRIST
EEETLBRTEXIT.

FRtRIT T EpZess
FAMAx1 20224 B FRARIT

e
BRI RS — AT,




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


